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PHYSICAL EDUCATION
PAPER—II

Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

1.  The Olympic movement was brought to India by :
(A) Sir Dorabji Tata (B) Prof. G. D. Sondhi
(C) Maharaja Yadvendra Singh (D) Pt. Jawahar Lal Nehru

2. 2010 Commonwealth games will be held at :
(A) China (B) Pakistan (C) India (D) Greece

3.  The new look at the objectives of Physical Education :
(A) Cognitive domain (B)  Psychomotor domain

(C) Affective domain (D) All of the above

4.  ‘Pyknic’ is one of the body type as classified by :
(A) Sheldon (B) Kretchmer (C) Bucher (D) Thorndike

5.  The author of great epics “Iliad and Odyssey” was :

(A) Plato (B) Aristotle (C) Homer (D) Descrates
6.  Active site of energy production in the cell is :

(A) Mitochondria (B) Chromosomes

(C) Nucleus (D) Golgi Apparatus

7. Which one of the following is not the part of Hydrotherapy ?

(A) Whirl Pool Bath (B) Contrast Bath
(C) Wax Bath (D) Cryotherapy
8.  The greater number of white muscle fiber are found in :
(A) Marathon Runner (B) Sprinter
(C) Cross-Country Runner (D) Middle Distance Runner
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9. Newtons first law of motion is also known as :
(A) Law of Reaction (B) Law of Inertia
(C) Law of Effect (D) Law of Momentum

10. Tangential motion originates from :
(A) Centre of a circle (B)  Periphery of a circle
(C) Centripetal force (D) Radial line

11. The force created between two contacting surfaces is called as :
(A) Friction (B) Gravitation
(C) Acceleration (D) Centrifugal Force

12.  An example of Mediolateral Axis and Sagittal Plane movement is :
(A) Radial deviation of wrist (B) Transverse rotation of vertebral column
(C) Flexion of Hip (D) None of the above

13. The Eysenik Personality Inventory (EPI) measures :
(A) Introversion only (B) Extroversion only

(C) Personality structure (D) Introversion and extroversion

14. Personality development is the outcome of :
(A) Heredity (B) Diet

(C) Environment (D) Heredity and Environment

15. Physiological improvement brought about by psychological mechanism is :
(A) Hypnosis (B) Bio-mechanical changes
(C) Placebo effect (D) Meditation

16. ‘Spark Plug’ of any school programme is :
(A) Curriculum (B) Time Table
(C) Syllabus (D) Students

17. Professional preparation of physical education teachers is governed by :
(A) UGC (B) AICTE (C) NCTE (D) NAAC
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18.

19.

20.

21.

22.

23.

Shortest training cycle in sports is known as :
(A) Micro Cycle (B) Macro Cycle
(C) Meso Cycle (D) None of the above

Building blocks of the body are :
(A) Vitamins (B) Minerals
(C) Carbohydrates (D) Proteins

Caliper measured :

(A) Height (B) Weight (C) Width (D) Circumference

Make the correct choice for question no. 21 to 25 from the assertions (A) and the
reason (R) given below :

Assertion (A) :  Strength can be developed by performing exercises with submaximal
weight.

Reason (R) : Exercise with submaximal weight develops muscle hypertrophy.
(A) Both (A) and (R) are true
(B) (A) is true but (R) is false
(C) (A) is false but (R) is true
(D) Both (A) and (R) are false

Assertion (A) :  External criticism establishes the authenticity or genuineness of data.
Reason (R) : Researcher should get true data.

(A) (A) is true but (R) is false

(B) (R) is true but (A) is false

(C) Both (A) and (R) are true

(D) Both (A) and (R) are false

Assertion (A) : Reliability of a test may be defined as the measure of consistency.
Reason (R) : Split halves method cannot be a measure of reliability.

(A) Both (A) and (R) are true

(B) (A) is true but (R) is false

(C) (A) is false but (R) is true

(D) Both (A) and (R) are false
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24.

25.

26.

27.

28.

Assertion (A) : An important part of any relaxation procedure is to focus attention
on mental device.

Reason (R) : Cool down activity is a mental relaxation device.
(A) Both (A) and (R) are true
(B) Both (A) and (R) are false
(C) (A) is false but (R) is true
(D) (A) is true but (R) is false

Assertion (A) :  Wrestling competitions are conducted in different weight category.
Reason (R) : A wrestler with more weight is slow mover in competition.

(A) (A) is true but (R) is false

(B) Both (A) and (R) are true

(C) Both (A) and (R) are false

(D) (A) is false but (R) is true

Assertion (A) : The coordinated action of skeletal muscles with bones of skeletal system
forms a complex system of anatomical levers.

Reason (R) : Flexion of elbow is second class lever.
(A) Both (A) and (R) are true
(B) (A) is true but (R) is false
(C) (A) is false but (R) is true
(D) Both (A) and (R) are false

Assertion (A) :  Flexing your elbow, have someone tried to extend your forearm by
pulling down on your wrist is an example of eccentric contraction.

Reason (R) : Climbing up the hill is the eccentric training.
(A) Both (A) and (R) are true
(B) Both (A) and (R) are false
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

Assertion (A) : Maturation of subjects over a period of time is one of the internal
threat to experimental validity.

Reason (R) : Maturation threat is best controlled by randomly assigning subjects
to experimental and control groups.

(A) Both (A) and (R) are true, but (R) is not the correct explanation
(B) Both (A) and (R) are true

(C) (A) is not true but (R) is false

(D) (A) is false but (R) is true
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24.

25.

26.

27.

28.
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29.

30.

31.

Mention the correct order of sequence of organs in respiratory track :

(A) Nose, Pharynx, Larynx, Alveoli
(B) Nose, Larynx, Pharynx, Alveoli
(C) Pharynx, Larynx, Alveoli, Nose
(D) Nose, Alveoli, Pharynx, Larynx

Olympic venues are given below, write the sequential order of their occurrence :
i)  Mexico

(

(i) Moscow
(iii) Montreal
(

iv)  Munich

Code :

(A) 1968, 1976, 1996, 1980
(B) 1976, 1996, 1968, 1980
(C) 1968, 1980, 1976, 1996
(D) 1980, 1976, 1968, 1996

Match List-I with List-II and select the correct answer using the code given below :

List -1 List - 11
(a) Hockey (i) Rover’s Cup
(b) Badminton (i) Davis Cup
(c) Foot Ball (iii) Uber Cup
(d) Tennis (iv) Rangaswami Cup

(@ B (o (@)
( i () () ()
( (i) (1)  (v) (i)
(©) (v) @) @G) @)
( (iv) @) (@) (D)
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29. YU XM & fafisr TeTel o1 98t FHEGA T I HifeH |

(A) S, ®ie9, afig, Tears

(B) IS, &iftrw, hitg, Tearas
(C) Titw, Afew, Tedies, s
(D) IS, Teards, thivw, aft|

30. AT Wall & ST T A9 S T 7, et Hifed 81 o [0 § HAas witd |
() HAfsEs
(i) TR
(iii)  wfgaTe
(iv)

&

(A) 1968, 1976, 1996, 1980
(B) 1976, 1996, 1968, 1980
(C) 1968, 1980, 1976, 1996
(D) 1980, 1976, 1968, 1996

31. -1 1 F-11 9 e & qen = fo3 e o1 73 i gu 92 3o forg

-1 qEt-11
(a) R () Jad &g
(b) sefg=a (i) <fag Fu
(0) e (i) IR FT
d) (iv) STt g

(@ ® () (@
(A) @) @) () (v)
(B) (@(i) @) (@v) (i)
() (Gv) @) @ (i)
(D) Gv) Gi) @ (i)
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32.
List -1
(a) P.N.F. training (1)
(b)  Plyometric (i)
(c) Fart-lek (iii)
(d) Weight training (iv)
Codes :
(@) () () (@)
(A) () @)  @Gv) (@)
(B) G) @@ 3G ()
© (@) @) @Gv) (@)
(D) Gv) @) @) @)
33.
List -1
(a) Long bone (1)
(b) Flat bone (ii)
(c) Short bone (iii)
(d) Irregular bone (iv)
Codes :
(@ () () (@)
(A) (@) @) () ()
B) @@ @) 3> (Gv)
(©) ) (@) Gv) @
(D) (@) @) @G (Gv)
34.
List -1
(a) Platelets (1)
(b) Low haemoglobin (i)
(c) Diabetes (iii)
(d) Cholesterol (iv)
Codes :
(@ ) (o) (@)
(A) (v) (@) @) ()
(B) Gv) @) (@) (i)
(€ ) () (@Gv) ()
(D) @ () () ()
D—4706 12

Match List-I with List-II and select the correct answer using the code given below :

List - 11
Power
Strength
Flexibility
Speed Play

Match List-I with List-II and select the correct answer using the code given below :

List - I
Phalanges
Humerus
Frontal
Vertebrate

Match List-I with List-II and select the correct answer using the code given below :

List - I1
Insulin
H.D.L
Anemia

Thrombocytes



32, FA-1H GA-11§ fHam L 9o 9= S3 Fe 1 790 w3 gL, Hel oR fad |

-1 qEt-11
(a) WEATE. T (i) 9d
(b) TEEHE (i) wifd
(c) ThISat® (iii) AT
(d) e (iv) e
g

(@ b) () @
(A) (i) (G (@Gv) (i)
(B) (i) @@ (i) (@)
©) @ Gi) (@Gv) (i)
(D) (iv) (i) (i) (@)

33. G-I -1 § Ham =%, qon = S e &1 790 & ge, 981 Son fod -

-1 qEt-11
(a) @S () a=ia
(b) “REH (i) T
(c) IRIA (i) W=d
(d) FIER S (iv) sz
.

(@ (b)) (© (@)
(A) (1) @) @G) (@)
(B) (i) (@) (@) (i)
Q) (i) @) @) @)
(D) @) (i) @ (Gv)

34, G-I -1 9 faam L a0 19 S e 1 990 i g 92 3o ford

-1 qEt-11
(a) T i) wgfed
(b) -BHFCAA (i) TE.ITE
(c) SEfeds (iii) s
d) FaLw (iv) geEd
&

(@ (b)) (© @)
(A) (v) @) @ (i)
(B) (v) @) @ (i)
Q) @) () @Gv) @)
(D) @) @) (i) (v)
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35. Match List-I with List-II and select the correct answer using the code given below :

List -1
(a) Round robin
(b) Elimination
(c) Within Institution
(d) Combination
Codes

(@) () (o) ()
(A) () @ G) ()
(B) Gii) @) (v) (i)
Q) @) (@) G) (v)
(D) Gii) @) Gv) (D)

List - 11
(i) Knock out cum league tournament
(i) Knock out tournament
(iii) League tournament

(iv) Interamurals

36. Match List-I with List-II and select the correct answer using the code given below :

List -1
(a) Mean
(b) Standard Deviation
(c) Quartile Deviation
(d) Variance
Codes :

(@) () () (@)
(A) @) @) @G o Gv)
®B) @ (@) @) ()
(©) (@) @) (@Gv) (@)
(D) @) () Gv) (@)

List - II
0 =
(ii) Zsz
(iid) Z;CT i
(iv) Qs ;Q1
14
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(iii)
(iii)
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(iii)
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(i)
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(ii)
(iv)
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A
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37. Match List-I with List-II and select the correct answer using the code given below :

List -1 List - IT
(a) Miller Wall Volley Test (i)  Basket Ball
(b) Knox Test (i)  Foot Ball
(c) Mc Donald Test (iii)) Tennis
(d) Dyer’s Test (iv) Badminton
Codes :

(@ () () (@
(A) (@(v) () @G) (i)
(B) @) () @Gv) @
(©) (@) (Gv) @) @)
(D) (@v) @) @) @)

38. Which of the following pairs is correctly matched ?
(A) Stoppage of sweating mechanism result in - heat cramp.

(B) Heat lost is more in cold condition - hypothermic effect.
(C) Feed back system for muscular work - neuromuscular junction.
(D) Body mass index is the measure of - lean body fat.

39. Which one of the following is not correctly matched ?
(A) Intensity and density (B) Load and adaptation
(C) Conditioning and periodization (D) Load and recovery

40. Politics is the study of :
(i) Conflicts
(ii) Religion
(iii) Policy
(iv) None of the above
Codes :
(A) (i), (ii) and (iii) are correct
(B) (i) and (ii) are correct
(C) (i) and (iii) are correct
(D) Only (iv) is correct

41. Which one of the following pair correctly matched ?

(A) Jimmy George - Foot Ball

(B) Biachang Bhutia - Volley Ball
(C) Anju B. George - High Jump
(D) Aparna Popat - Badminton
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37. EI-1 R GEA-11 9 fHam & qen F= @ e &1 990 & g, 981 SR Qi |

TqeEit-1 qEt-11
(a) THeR am@ dieft o= () ITEHe 9
(b) == (i) TpesTd
(c) T SHeE &= (i) <f
d) == (iv) Sefa=d
g

(@) b)) () (@)
(A) (@v) (@) @G (i)
(B) @) @) @Gv) @)
©) G @v) @) @)
(D) Gv) (@) @) (@)
38. 71 & @ %A @1 g e Se })
(A) TEN = ety wma w1 9o 86§ - g e
(B) 3~ % TIM H 3T 1 &R0T 31k Bl § - SEHISRMAF Thee
(C) Ui & o o Ao e - FUIEper SovH
(D) IR oMM R 7w § - o arel e

39. o ® @ FiEn 9 9 Sie T 2 2
(A) T=i9d @ (B) dIE W& TS=RM
(C) w1 Td IRTeEsvH (D) wIe TG el

40. Tifa forgent o1eTH ©
(i) oS
(i) Ffesm
(iii) TferdEt
(iv) ST H 9 ®IE T
.
(A) (i), (ii) 3R (iii) T 7|
(B) (i) 3 (ii) T& T
(C) (i) 3R (iii) T B |
(D) ad (iv) TEl § |

41, ¥ I FA T IH T A T2

A) Tt st - FE™

(B) @sfE yfea -

(C) ST aEisTS -  FESed

(D) Al qI9e - Sefgem
D—4706 17
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42.

43.

44.

Degree of difficulty is associated with :

(i)  Archery

(ii) Driving

(iii) Swimming

(iv) Wrestling

Codes :

(A) (i) and (ii) are correct
(B) (ii) and (iii) are correct
(C) only (ii) is correct

(D) only (iv) is correct

Which of the following is not associated with Cricket :

(i) Duck

(ii) Square leg

(iii) Short leg

(iv) Longleg

Codes :

(A) only (iv) is correct

(B) (i), (ii) and (iii) are correct
(C) (ii) and (iii) are correct
(D) (iii) and (iv) are correct

Number of water jumps in steeple chase is :

(A) 28 (B) 7 C) 8

(D) 10

Read the passage below and answer the question no. 45 to 50 based on your

understanding of passage :

We are all aware of the tremeudous sums of money involved in the sports industry
in the United States alone, more than $ 100 billion a year is involved but we don’t
always consider the extent of the economic relationship, which involves more than
gate receipts, player salaries, and media contracts. When we include large corporations

D—4706 18



42.

43.

44.

HISTAT T TR FeaAfo@ ¥
(i) TSt

(i) TaRER

(iii) TRT

(iv) F¥dl

&

(A) (i) 3T (i) S =t €1
(B) (i) 3R (iii) ST T ¥ |
(C) o (ii) T 71

(D) ed (iv) &l 7|

=1 ° @ o[ o frohe @ Feaifua =i § 2
i &

(i) TEET T

(i) ¥ W

(iv) @

&

(A) FHFA (iv) TE T

(B) (), (ii) 3 (iii) T& &1

(C) (i) 3R (iii) TET 2|

(D) (iii) ¥R (iv) L |

el IS B el S| bl g1 B
(A) 28 (B) 7

C) 8 (D) 10

TH W9 IE WA & [ had 3Tohel Hgsd TP H & UA-he AW | foIqa o= & gam §
TSt 1 e 99 /100 fafeam ger @ sifus € Afed 89 39 o1d W Ted four T8 &+ %
Te-fifaem, faanfedl & a7 dun Go9R A1eadl 9 Ta9l § 39 AN i |/ 1 A1 Fay
ST TH 96 39H $ 3T 9l &l off SivHfad R € - S WA-%g &1 Gl F i
FHLraTel fasmat fFrml, Serehs | 9ed S ot ol o Frafdie, aneg focl, Sen, fheim e
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45.

46.

that manufacture sporting goods; clothing manufacturers who produce athletic attire;
architects, contractors and designers who build, remodel and design stadia resort sites;
and concession owners and operators at sporting events, we can fully appreciate how
massive the sport industry actually is ? Yet, even these considerations don’t exhaust
the extensive and complex economic web of the business of sports. Whether directly or
indirectly, the economics of modern sport touches several levels of society, we can
easily include agents, lawyers, media representatives, trainees, managers, athletes, scouts
and maintenance personnel in this economic web. In addition, we cannot ignore sport
gambling, ranging from legalized wagering through race and sports booking and off
track betting, to consideration of bookies, gambling syndicate and part time
entrepreneurs who make illegal profits from sport.

For these reasons, it is clear that economic of sport cannot be easily separated
from legal, social or political consequences. Some of the more familiar aspects of
economics are related to professional sport. Several examples are the emergence of
player’s associations, collective bargaining and strikes. Interestingly, economic
considerations are not limited to professional sport. Amateur sport has also proved to
be quite profitable and although not frequently mentioned by the press, the university,
or the community at large, amateur sport is not immune from some of the same
controversial issues that plague professional sport. For instance, it has been estimated
that the 1984 Olympic games brought California $ 3 billion in revenue and created
close to 70,000 jobs for the Los Angeles area. In addition, the 1984 summer Olympic
earned a profit, returning a substantial amount to the Los Angeles area and to the
United States Olympic Committee. This profit is to be used to build stronger and better
U.S. Olympic teams in future. This model of U.S. is not so difficult to be adopted in
Indian sports. It is only a matter of management and worthy use of resources. Example
at hand is that of B.C.C.I. where it has run into profit to the tune of crores of rupees.
Others sports organisation may learn lesson from Indian Cricket Organisation.

The main theme of the passage :

(i)  Sports and gambling

(ii) History of sports-economic development
(iii) Sports and modern India

(iv) Economics of sports

Codes :
(A) (i) and (iv) are true (B) (i) and (ii) are true
(C) (ii) and (iii) are false but (iv) is true (D) (ii) and (iv) are true

Economic web of sports includes :
(A) Lawyers (B) Architects
(C) Sports attire (D) All the above
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46.

T foaer 1 Faf-qafato aun sifyshey weam fesmeasmsien - a4 g0 @dgs e &t
foreeTar st g X Tkl | 39 9Tl Sl S H W o dMese o, hie-Tead™ & faeqa aun
Sifeq eTIfeleh STe ol I T3 T98 -1 G99 TRl © | §9 ST Sl H &6 Tsidl, dehiall, §aR
el o gfafaferen, gfsreronfel=, geieeni, T, Th1sd aul WEE-HHanE i a9
AT Y ohd § | 36 TS o1 TeThs § S Sl 1 i 3Te@! T s Hehd S AT
off B Tohd § AR TG o1 | 59 W § 9d 1], SISl &8 o TaTe, Td o He o STel arsi
T © oo T Sarral, Ja-Tafekal aun sierertfare o Safhel I foem & it @ads |
TRRTTAT HATRI AW € |

T HRUN | T T8 © F, WAERs o ST Ual ! HIH], SIS A1 eHifash Tarst o
ST TR1 572 T Wehall | ST 981 o 5 SH-TgaH Ugq] Wi HAEEIaes Weiha)l o Hardd ¢ |
el T & qrgHa, Arfesh Tleansal a2 SSaral o 3T IS Held & | IR a2 I8
2 for omftfer vet e Wadhe d% € Wiftd TEi ¥ 1 SR ot ot Tt qATheR
ifod 3T € a1 I §9 91 1 A 941 9, favafaemed a1 9qe™ o 7@l e, qenfa
Yifeha A &g off FEHIIS YR Hi THd & el foaReig qge) 9 T8 99 I © |
SRS, g STIAM T 741 © foh 1984 H AN S e o9 § hicThiram &l 3
fafaas SR &1 ™ g8 a1 ofd Teied & H 70,000 AR & SToE 3Tay g1 9k
I 1984 & ‘TR Acfuss’ | 3q1 AR g3 T A9 TSl &9 991 IAss W™
Sty & 1 T=5 TE WA dlek T3 | Ao § 36 WA A1 ST IS wWed |
etk 2 1 9@a AU HSed oM =g fRA1 T WRATT Welshs & &7 | FAsee &l &
IS i ATAMT A1 hicd 1A T8l &1 3T (a0 Yeiuq 991 TEe=i & 3fad STai i
STETISHhal § 1 o HLH.eTE. off U 3w ¥ 9 FAS T 1 HATH gT1 €1 IR Tshohe
T | 379 Goighs |7 Wt §i@ o Fhd § |

@I 1 qod fawa ¢

(i) @a AR 3T

(i) @ sfie™ - snfden fawm

(i) BV AR MYFTF TRa

(iv) T Tefeme

&

(A) (1) 3R ({v) AT T2 §) (B) (i) 3R (ii) W&l ¥ |
(C) (ii) 3R (iii) TeTd &, R (iv) T T (D) (i) R (iv) & B

T & NfYfd I H A4 T -
(A) TRiA (B) OEI&HR
(C) Wl eI (D) W fae &=
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47. The above passage highlights that sports cannot be separated from :
(A) Legal aspects
(B) Religious aspects
(C) Both (A) and (B) are true

(D) (A) is true but (B) is false

48. Hosting of Olympics brings :

(A) Profits (B) Jobs (C) Prestige (D) All the above

49. Can U.S. model be applied in India for hosting games ?
(A) Yes (B) No

(C) Not at all (D) None of the above

50. Assertion (A) : Amateur sports can also be made as profitable venture.
Reason (R) : The growth of B.C.C.L. in India is due to amateurism.
(A) Both (A) and (R) are true
(B) (A) is true but (R) is false
(C) (A) is false but (R) is true

(D) Both (A) and (R) are false

-00o0-
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47.

48.

49.

50.

SR SEie gt € o B &1 379 a1 & foran S wehal

(A) RFLHT U]
(B) fHe® U8q]

(C) (A) 3R (B) 3 &l §
(D) (A) W& T W (B) Tod ©

3eAfeh & TS | ST §
(A) HATH (B) Hrehfe
(C) wAM (D) W for@ |eft

<1 SR % HISA ® URd B Tl it Aol g @] fwan <1 gk 72
(A) @ (B) &
(C) foasa & (D) R fafea #iE o 7=l

TEHYT (A) :  TIRAT WA ! FATRATAT ST ST Fhal & |

T (R) : Vifhen B 1 WU | & 9Rd H o 94 eE. fawfaa gem
(A) M (A) R (R) w&

(B) (A) W&l & W (R) TTeTd B

(C) (A) TTEd € WR (R) T |

(D) THI(A) 3R (R) T4 B

-00o0-
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